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QUESTION 1

An administrator is preparing to deploy a VMware Cloud on AWS software-defined data center (SDDC) and is planning
to scale up to 48 nodes in the future. What is the minimum size management CIDR block that is needed to meet this
requirement? 

A. /24 

B. /16 

C. /23 

D. /20 

Correct Answer: D 

 

QUESTION 2

A customer plans to use VMware Cloud on AWS to support their public cloud adoption initiatives. Their use case for
VMware Cloud on AWS is predominately data center extension to support seasonal and business specific demands.
There will also be a number of workloads running in VMware Cloud on AWS on a long-term, permanent basis. Based on
a recent sizing assessment, it is determined that utilization of VMware Cloud on AWS will fluctuate between two and five
hosts throughout the year based on seasonal and market conditions. Which possible subscription option would result in
the greatest benefit to this customer and why? 

A. Create a subscription for five hosts for three years. This option provides the greatest cost savings to the customer
and eliminates the amount of time needed to provision and configure VMware ESXi hosts as consumption fluctuates. 

B. Create a subscription for two hosts for one year and consume the remaining hosts, as needed, on-demand. This
option allows the customer to lock in a term rate for required hosts and leverage on-demand rates for additional hosts as
needed. 

C. Consume VMware Cloud on AWS on-demand based on seasonal and business requirements. This option provides
the cost benefits of cloud through an on-demand consumption model. 

D. Create a subscription for three hosts for three years and consume the remaining hosts, as needed, on-demand. This
option allows the customer to lock in a term rate for required hosts and leverage on-demand rates for additional hosts as
needed. 

Correct Answer: D 

 

QUESTION 3

A customer is deploying a new solution based on VMware Cloud on AWS. The customer is already running several
native AWS services and would like the new workloads deployed into VMware Cloud on AWS to consume these
services without incurring additional traffic charges. During the initial deployment of the VMware Cloud on AWS software-
defined data center (SDDC), which option must the customer choose to meet the requirement? 

A. Choose a connected Virtual Private Cloud (VPC) that is located in the same region as the native AWSservices to be
consumed. 
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B. Any availability zone within the same AWS region can be selected. After the SDDC deployment, deploy a services
gateway and connect it to the target availability zone. 

C. Choose a subnet from the connected Virtual Private Cloud (VPC) that is located in the same availability zone as the
native AWS services to be consumed. 

D. Choose a connected Virtual Private Cloud (VPC) that is located in the same availability zone as the native AWS
services to be consumed. 

Correct Answer: A 

 

QUESTION 4

Due to a recent acquisition, an architect is being asked to identify and design a cloud-based solution that will assist in
merging several data centers together without incurring undue operational overhead while adhering to a very strict
project timeline. The proposed solution must have the capability to be rapidly recovered in the event of a cloud provider
outage. After careful consideration, the architect determines that VMware Cloud on AWS would be an appropriate
solution, requiring a total of nine hosts for capacity. Which additional configuration options would satisfy the
requirements of this project? 

A. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stand-alone cluster. Deploy a
second stand-alone cluster into the SDDC in a separate region. Configure VMware Cloud Disaster Recovery to replicate
and protect workloads to the second cluster. 

B. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stretched cluster across two
separate availability zones. Configure the cluster to ensure that all virtual machines can be restarted in the second
availability zone with a near zero recovery point objective (RPO) in the event of any environment or system failures. 

C. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stretched cluster across two
separate regions. Configure the cluster to ensure that all virtual machines can be restarted in the second region with a
near zero recovery point objective (RPO) in the event of any environment or system failures. 

D. Deploy a VMware Cloud on AWS software-defined data center (SDDC) with a single stand-alone cluster. Deploy a
second SDDC with a stand-alone cluster into a different AWS region. Configure VMware Cloud Disaster Recovery to
replicate and protect workloads to the second cluster. 

Correct Answer: B 

 

 

QUESTION 5

Which two statements are true for the pre-defined resource pools in VMware Cloud on AWS? (Choose two.) 

A. Users are allowed to monitor and modify the resource allocation settings in the Mgmt-RsourcePool. 

B. The Mgmt-ResourcePool is able to utilize resources in subsequently created clusters if needed. 

C. Users can modify the pre-configured vSphere DRS settings in their own Compute-ResourcePool. 

D. Users can rename child resource pools to better match company policy. 

E. All workload virtual machines are created in the top-level (root) Compute-ResourcePool by default. 
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Correct Answer: DE 
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